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O ol 2I 30,000& = 50 = 23] 300
O XHg - o2l 24,000
O g2 (22U, FHlsXdl, 2284H) 24,000
st= Xt 5,000,000& = 1CH 5,000
- HAX 15,000,000& * 1CH 15,000
SXdE3 &IIXt 4,000,000& = 1CH 4,000
206 = Hl 8,100 9,200 A1,100
01 =8l 8,100 9,200 A1,100
0 z28 #¢ 300& = 18,0002 5,400
O JIet Tt 2 75,0008 * 9& « 43 2,700
Ot 58 =2X2 22 145,076 146,232 21,156
101 14l 27,325 27,761 AN 436
4 D12t ZE2EXNSEES 27,325 27,761 A 436
0O sg=sXa 22 42y 27,325
O Jles 69,800& * 198 » 300 20,940
O == 69,8003 * 1H » 53¢ 3,700
O HL2EE FE=
24,640,000% * 3.43/100 846
O LRIQYBEE 2L
846,000& = 10.25/100 87
O =ogagez 2u3
4,640,000 * 4.5/100 1,109
O 188z 23
24,640,000 * 1.7/100 419
O MHEEE RFE=
24,640,000% = 0.908/100 224
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0 get=2H| 9,022
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03322 2 WA 107,529
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80,000& = 203l 1,600
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O HJAAINEE 40,0003 = 209 800
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